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Yvette
Sticky Note
These first problems are from Test #1a_a. If you took Test #1a_b you will have to use these problems to guide you.


5. If the terminal point of ¢ is determined by (13, ~3) S N’
a)\ Draw a triangle in standard position to represent ¢ and @ y&ror
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/D)  Find the exact values of the 6 trig functlons s
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7.  Express tan ¢ in terms of sin ¢ if the terminal point determined by t is
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Y. Butierworth 7% ﬂ"t\a Test #la a—fMa 22, FIT— G\ Page 2 of 4

N A 7



9. For
A l’\ Find the amplitude

Find the period

T
c Find the phase shift
) .

y =-/q sin 2(x <#%,) )
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L
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D+o T broken nto s o
add /s to pered &

@ Complete the following table: /
X (fory=sinx) |y (fory=simx) | X' (period) X''(phase shift) . | y' (amplitude )
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10.  Graph the following using 5 labeled ordered pairs (those discussed in
class!t) '
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13. Drawa diagge‘fm for the following and then find the angi'é‘ of elevation for the sun.
A 95 foot tall tree casts a shadow that is 45 foot long. What is the angle of

elevation for the sun? Round to the neares [
N, \ q;\* ge,‘m? tl
; Pl - - T \ c! .
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{
- R @ (O 9{05 5 <


Yvette
Sticky Note
This begins Test #1b_b. If you took Test #1b_a you will have to use these to guide you.


15.

To find the distance across a river a surveyor chooses points A & B that are
100 m apart and a reference point C on the other side of the river. Find the
distance to the nearest tenth of a meter, b, between A & C given that £ZA = 93°,

ZB=62° , oo
g0 62 ain (BOG>E2)
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16. Find the exact value

sin”! (sin )
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17.

From the top of a 250 foot lighthouse the angle of depression to a ship on the
ocean is 18°. How far is the sh1p from the hghthouse‘? Round to the nearest foot.

l :&x-'%qg‘b \



18.  Find the exact value of each of the following. Give the reference angle and or' —— 7
coterminal arzlle and' quadrant info that helped you answer the question.
tan (-“73)




EC ' ba t.tim °¢
A pilot sets out from an aiport and heads in the direction N 30° W, flying at a constant

speed of 305 mph. Forty-five minutes later the pilot makes a course and speed correction

and now heads in the direction N 50° W and reduces her speed to 175 mph. Half an hour

later, engine trouble forces her to make an emergency landing. F1nd the distance between

the airport and the final landmg point. N B %7 Seiv O
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‘/1. Find the exact value of :  sin {sin'?(;/s) - co?f-(l/z)] =
%:\'f\(e."@zy:- S\W1 9,050, = Sin b, COS@'
\ sin (%)) cos (cos (%)) ~ s'm (o' % Y cos 60" %)
L D = @0x) - (%)= 345 e8|

|

HINT: Use subsututlon of 8; & 9, for the inverse functions and then a formula to szmphfy

%. Use a cofunction identity to snmphfy and find the value of e

Prove. . Yot - T 4 o

= COS—’ 106%9 A g\ﬂ@'StV\QO + | ' f
= (O e = (el = sm @ & RH&
A 1-/2 —h/‘?/— ‘
v 3 - Write _sec x - cos X in terms of sin x & cos x and simplify
" e tan% e :ﬁ‘s \\m.k\u,wu \e e J\n Wy J‘N\ G ves al
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T = A : . 5 . %,
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2 anx ‘\“OX}X CCM s\n)ﬂ \ s X
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Yvette
Sticky Note
This begins Test #2
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5. Find{all solutions for: cscix = 4

o Loy -
S’ X _
LinTX = Tzli >S\DX-~F ‘z"'
‘6. Find all solutions in [0, 2x) for: SinX = c0s 2x

5 x \~2s \ql X" 7 Jsionz) é‘m’f_: -
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HINT: Use substititution hA

N
7. Without using any approximation, find: tan 25° + tan 20°
Show your work! | 1 — tan 25° tan 20°
A

M‘; 20) = takas = | |
V4
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S oo (Evner Edhion )

l4¢ Value = 9«“20/{\_\_1
20 A= J3(50G-0)(e-<)
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5 A& A=A, :3/&(1:,-?)&'—5)(5;2) " s 29 = /P3

= 94 = 2:2V¢ ={4Ve unde |
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#2 /32" = dzs +3b— 60 COS\OO® = Y155 9D6 e

= 8,450969€0C 6

A-\—A = Acea of F\c:)ure.. =MZEtd)
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S 561 8S) =635
5, g, (Ge7e8S)= 175

= J3754.7- 5)(??5—1.,)(975 Eg)v\énoe%é/jg 27
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